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7 100kN/m%#8%z% | 1.00 | 000 ~ 336 15388 |3mEBZB| 000 ~ 013)| 3.07 15.50 | 100kN/m#%i#8z25% | 1.00 | 1062 ~ 39.87| 15388 |3mZE#BZB| 3000 ~ 39.87| 3.07 15.50
s 1.00 | 536 ~ 1114 100.00 | #nLSY | 0.18 ~ 1114 3.00 16.16 zh st 1.00 | 5.00 ~ 1062 100.00 | =nLst | 6.00 ~ 3000 3.00 15.16
2 100kN/ Mm% %% | 1.00 )| 000 ~ 345| 156563 |3mEBZ%| 000 ~ 122| 3.568 18.08 | 100kN/mi%i#825 | .00 | 1058 ~ 4200| 155.63 |3m&EiBZ 5| 30.00 ~ 4200 3.58 18.08
s 1.00 | 845 ~ 1124 100.00 | =nLSY | 1.22 ~ 1124 3.00 16.16 Zh st 1.00 | 5.00 ~ 1058 100.00 | =nLst | 6.00 ~ 3000 3.00 15.16
3 100kN/mM%E#BZ5 | 1.00 | 000 ~ 334 153.67 |3mE#BZD| 000 ~ 115| 353 17.85 | 100kN/m%i#8z5% | .00 | 1066 ~ 4325| 156567 |3m&E#BZB| 8000 ~ 4325| 8.563 17.85
s 1.00 | 884 ~ 1113 100.00 | #nLSY | 1156 ~ 1113 3.00 16.16 Zh st 1.00 | 6.00 ~ 10.66 100.00 | =nLst | 6.00 ~ 3000 3.00 15.16
4 100kN/m%#8%2% | 1.00 | 000 ~ 327| 156231 |3mEBZ%| 000 ~ 1.08| 3.49 17.63 | 100kN/m%i#8z5 | .00 | 1078 ~ 4958 | 152.31 |3m&E#BZB| 30.00 ~ 49.58| 3.49 17.63
s 1.00 | 827 ~ 1105 100.00 | #nLSy | 1.08 ~ 1105 3.00 16.16 Zh st 1.00 | 5.00 ~ 10.78 100.00 | =nLst | 6.00 ~ 3000 3.00 15.16
5 100kN/m%#8%% | 1.00 | 000 ~ 337| 156409 |3mZE{BZ%| 000 ~ 1.13| 3.62 17.78 | 100kN/m%i#8z5% | .00 | 1069 ~ 4990 | 154.09 |3mZE#BZB| 3000 ~ 49.90| 8.62 17.78
s 1.00 | 887 ~ 1115 100.00 | #nLSY | 118 ~ 1115 3.00 16.16 Zh st 1.00 | 5.00 ~ 10.69 100.00 | =hLst | 6.00 ~ 3000 3.00 15.16
P 100kN/m%#8Z2% | 1.00 | 000 ~ 347| 156591 |3mE{BZ%| 000 ~ 208| 3.92 19.82 | 100kN/mi%i#825 | .00 | 1062 ~ s000| 155,91 |3m&E#BZB| 30.00 ~ 50.00| 3.92 19.82
s 1.00 | 847 ~ 1126 100.00 | =nLsy | 208 ~ 1126 3.00 16.16 st 1.00 | 5.00 ~ 1062 100.00 | =hLst | 6.00 ~ 3000 3.00 15.16
100kN/mM%EBZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHEAD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ st ~ ZhnLst ~ ZzhLst ~




